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Minimum depih of ballast for BG rack is
(@) 20cm (o) 15¢cm
{c) 25em (d) 30¢cm

Boxing of ballast is done
{a) underrails

{0} atthe rails

{c) inbetlween tworails

{d) inbelween lwo sleepers

Best ballast contains stones varying in size from
(@) 1.5cmio3cm b) 2Zcmtodcm
(c) 2cmiaScm {d) 25cmiw6em

The slceper density is M + 7 for 13 m rails, the
minimumn depth of ballast under wooden sleepers
{25cm » 13cm)is
(@ 15¢cm
(€) 25¢cm

(b) 20cm
(d) 30cm

Far even distnbution of load (hroughout the ballast,
load dispersian is assumed as

&) 30°totr=verlical (b) 45° o lhe vertical
{c) 60°tothe verlical (d) None ol thase

It wis widih of sleeper, 5is sleeper spacing and
d s depth of batlast then

@ o=2Y (b) d=f-'3-‘1
(0 g=32% a d=22%

Pick up the correct stalement fram the fallovsing.

{a) An extra width of 7.5 cm ballast is provided
on oulside a curva il Irack is laid with short
welded rails

(b} Ancetrawiditiol 7.5 con ballast 15 provided
cn outsids a curve sharper than 37 on 8.G.
and & G lracks
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{c) An extra widih of 15 cm ballast is provided
on each shoulder if track is laid with welded
rails

(d) Alithe abova

Maich List-l wilh LIst-ll and select the correct
answer using the codes given below the lists:
List-1

Wire claw

Jim crow

Beater

Mallet

List-ll

To clean (he ballast

To pack tha ballasl under sleeper

cow>

N -

3. To bend the rails

4. Tosound lhe sleeper lar packing
Codss:

A B C D
@11 3 2 4
by1 4 3 2
©2 1 3 4
d2 3 1 4

Match List-l (Delect) with List-Il (Cause) and
selectthe correct answer using the codes given
betow thg lists:

List-1

Crushed head

Split head

Horizonial

Ballered ends

Usl-ll

Excessive gap and Ioose fish plates
Manufacluring delect

Skidding of wheel fissures

{nsuflicient ballast packing under the joint
sleeper

TO®>»

W

Codes:

A B COD
(a) 2 3 4 9
b}3 2 4 1
)2 3 4 1
g1 4 2 3

Q.10 Matph List-1{Baltast portion) with List-ll {Function}

and select the correcl answer using the codes
given below the lists:
List-i
A. Ballasi cushion
B. ,Shoulder ballast
C. Cribballast
D. Exira ballast
List-l1
Stabilily against centrifugal forces
- Provides resistance lo the longliudinal track
movement

SN

3. Provides resistance fo the lateral movement

of the track .
4. Fordislribution of load on the curva formation
Codes:

A B C D
@1 2 3 ¢4
by2 1 3 4
)4 3 2 |
@3 4 2 1

Q.11 Which of the lollowing statements regarding

ballast materials are correct?

1. Brick baliast has poor drainage
characlerisfics,

2. Coal ash is not used as ballast with steel or
caslironsleepers

m Ballast and Formatlon

1.(€) 2.(0) 3(c}) 4.() & (b)

H1.{d) 12, (d) 13. (d)

3. Gravel ballas: gives better performanca on
soft formation, '

4. Sand ballasl causes excessiva wear on top
of rail.

Select the correc answer using the codes given

below:

{a} tand2

{b) 1and4

{c} tand3

{d} 2,3and4

Q.12 Faclors goveming the sleepar densily are

1. ‘axleload and speed

2. type of section of rails

3. type ol bafiast and ballast cushion
4. type ol siesper

The correcl answer is

@ 1,2and3

(b} 1.2and4

{c) 2.3and4

{d} 1,2,3and4

Q.13 Considerihe lollowing stalements

1. Process of ramming the ballast underneath
the sleeper is called packing ‘

2. Laleral siability of Ihe rack depends on the
ballast

3 Loosebai&astbameemwoadiacems}eepersv
is called crib ballast

Thecorrecl statements isfare

@) bothtanda

{o} only 2

{c) only3

{0) 1,22and3

6.() 7.(d) 8&.{(a) 8. (b) 10.(c)




